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1 L A%k R#X 2 1 35 16 5 457 1 |1E XF EBEX 2 8 45 0 1 46
2 |ME XF EEX 2 8 99 45 9 455 2 [BEA FxR BExE 2 9 35 0 1 36
3 |k BR BXE 2 1 45 20 2 44.4 3[F F= X 2 7 30 1 2 33
4[F F= R#iX 2 7 n 30 1 42.3 4 (1) #HE KX 2 1 25 1 5 31
5 |&E BibF EEX 2 8 35 14 1 40.0 5 [ &F EEX 2 8 23 3 1 21
6 |3l HZ= X 2 1 65 25 2 38.5 5 [lLZzA #E BXE 2 9 23 1 3 27
7 |BRT FHE ExE 2 9 34 12 0 35.3 7[@EN RE KX 2 7 25 1 0 26
8 |faf RE R#iX 2 7 12 25 5 34.17 8 [k¥ BE BExE 2 1 20 3 1 24
9 |BEA Fix BEXxE 2 9 104 35 3 33.7 9 [EE BT EEX 2 8 14 7 1 22
10|78 #k7E ExE 2 1 47 13 5 27.7 10| LU BABK KX 2 7 16 3 2 21
11| £ EBEX 2 8 85 23 4 27.1 11| F#&# BExE 2 9 12 3 3 18
12|luzR #E BExE 2 9 87 23 7 26.4 12|78 HKTE BxE 2 7 13 0 1 14
13|kE 15 RH#iX 2 1 46 12 2 26.1 12[kE 15 KX 2 7 12 0 2 14
141)1iF £8 HEEX 2 8 60 1 6 18.3 14|H# L BE BExE 2 4 " 2 0 13
151 X8 EEX 2 8 1" 0 1 12
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1|E X¥F EBEX 2 8 45 5.63 1|58 BF EEX 2 8 1 0.88
2| F F= R#iX 2 1 30 4.29 2 [5x3# BR BxE 2 7 3 0.43
3 |#EE AR ExE 2 9 35 3.89 2 |l #Ak KX 2 1 3 0.43
4 (3L HE KX 2 1 25 3.57 4 (g 2% HEBEX 2 8 3 0.38
4 [FEF RE RfiX 2 7 25 3.57 4 17 &EMF EEX 2 8 3 0.38
6 | ZF EEX 2 8 23 2.88 6 (Rt T4 BxiE 2 9 3 0.33
7 |k¥H BE ExE 2 1 20 2.86 7 |@EN RE KX 2 7 1 0.14
8 |lLzN #BH BExE 2 9 23 2.56 7 (3l tfE= R#X 2 1 1 0.14
9 |LLIKF #AMK RH#iX 2 7 16 2.29 1[F F¥= KX 2 1 1 0.14
10|78 #k7E BExE 2 1 13 1.86 10(lLzA #H BExE 2 9 1 0.1
M&EE BELF EBEX 2 8 14 1.75
12|kE 15 KX 2 7 12 1.71
13|IiF X8 EEX 2 8 1 1.38
14|BRT T BExE 2 9 12 1.33
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" B4 Foug | B g{ g1 %812 % = ) B4 Fou% | B ; g :; Z & ]
1|3l = RHX 2 1 31 5 17 0 29.8 11 F& X 2 1 47 39 0 8 83.0
2 |12 EMF EEX 2 8 26 3 9 1 19.2 2 |y &% EBX 2 8 41 32 0 9 78.0
3 | &3 EBEX 2 8 22 1 1 0 17.0 3 [ #IE ExE 2 7 39 30 0 9 76.9
4 [EH 18K EBEX 2 6 13 1 4 0 15.4 4 [EH BK BxiE 2 9 39 29 0 10 [ 74.4
5 | ILisy #ABk RAX 2 1 28 2 9 0 15.2 5 [@EH RE RAX 2 7 22 15 0 7 68. 2
6 [F F= X 2 1 24 2 8 2 14.6 6 |BEEA Fx BxiE 2 9 50 34 0 16 | 68.0
7 |k¥HF BB ExE 2 1 18 1 7 1 13.9 7 |EH &K EEX 2 6 20 13 0 7 65.0
7 [#E #TE BExE 2 1 18 1 8 2 13.9 8 [Nk E£B EEX 2 8 39 24 0 15 | 61.5
9 |luzH #F BxiE 2 9 31 3 8 3 13.7 9 [ER BT EEX 2 8 41 25 0 16 | 61.0
10| B %XF HEEX 2 8 26 1 10 0 13.5 10[kE H15% R#X 2 7 26 14 0 12 | 53.8
11|BRT T BExE 2 9 34 3 7 2 12.5 Ml—v# =2 EEX 2 6 19 10 0 9 52.6
12|kE 15 RH#iX 2 1 35 2 1 2 12.1 122|lLzA #E BxE 2 9 25 7 0 18 | 28.0
13|IiF X8 EEX 2 8 23 1 8 1 12.0
14|3EA FHx BExE 2 9 38 1 10 1 8.6
15|28 EbF EEX 2 8 27 1 5 1 1.4
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